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Solve the following by using the count on or take from ten strategy and tick
h/) on the strategy you used.

Example:

1. Adam has 15 apples. He ate 9 apples. How many apples Adam left with?

15 - 9 =6 0000000000000

10 - 9 =1 ‘/
take from ten.
15 - 9
/\ 1+5=6 count on.
10 5 Adam is left with 6 apples.

1. There are 16 sparrows on the tree. 9 sparrows fly away. How many sparrows
left on the tree?

16 - 9 = __

take from ten.

count on.

2. Dad have 17 red pens. He gave 9 red pens to me. How many red pens are left
with dad?

17 - 9 = __

take from ten.

count on.
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